Temperature Conversion

To convert between degrees Fahrenheit (° F) and Celsius (° C):

Te=3x(Tr —32)

Ty = (3xTe) +32

where: T. is temperature in Celsius
T 1s temperature in Fahrenheit

To convert between Fahrenheit (° F) and Kelvin (K):

Ty = (3X(Tx —273.15)) + 32

Tk = (% (Tr —32))—273.15

where: Tr1s temperature in Fahrenheit
Tk 1s temperature in Kelvin

To convert between degrees Fahrenheit (° F) to Rankine (R):

T: =Tr —459.69
Tr =Tt +459.69

where: Tr1s temperature in Fahrenheit
Ty 1s temperature in Rankine
To convert between degrees Celsius (° C) to Kelvin (K):



Te=Tx—-273.15
Tk =Tc+273.15

where: T. is temperature in Celsius
Tk is temperature in Kelvin

To convert between degrees Celsius (°C) to Rankine (R):

T, =3x(T, —491.69)
Tr=(3xTc)+491.69

where: T. is temperature in Celsius
Ty 1s temperature in Rankine

To convert between Kelvin (K) and Rankine (R):

Tk = (3% (T, —491.69)) +273.15

Tk = (3% (T g - 241.15)) + 459.69

where: Tk 1s temperature in Kelvin
Ty 1s temperature in Rankine



